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(hwqup npuudGbpny)
= wyn pymd’ (wybpugnidGhpp Gygwo Ll
% = | e Bymetinwhl dSwhutiph gnpowpwljwl nwuwwpgiw i > ppwlw Grwlny, pul GjuwqbgmdGhnp
g2 5 pwdh@Gtph, ludpbph L nuubnh, hGswbu Gl pymetmwjhG o Clnwittn uluqotpn)
§ E E ¢ Oowluutiph mGnbtuwghnwiw nwuwjwupqiwb hnnyudGtph é
wyw miGtpp g Jupswlwé pynigh | pnGruhG pynigh
1 21314 5 6 7 8 9
LuvuUtLLe BUUGE 1,225,054.0 1,169,408.2 (84,354.2)
2400|04(0f0 SULSEUUUUL <ULULGLNROBNRFLLED 131,645.8 75,000.0 56,645.8
wj pymd’
2450| 04| 5 | 0| Spubuynmn 131,645.8 75,000.0 56,645.8
nphg
2451 04| 5| 1 [6wGwuywphwjhl wpwluwynpun 131,645.8 75,000.0 56,645.8
wyn pynid’
1. upwn-plannGu owolh ybpubn, 1d L wuwhuwilniyg (67,000.0) (67,000.0) -
-Chliptph U YwnnygGtph pGpwghy Gnpngmy b wjwhuyw Gnnd 4251 (67,000.0) (67,000.0) -
3. {mnpnunl wlgnidGh wnnigniy L ybpwln, 'y 2,000.0 2,000.0 -
-Chlptinh L YunnyygGtph pGpwghy Gnpngnud b wwhuwGnid 4251 2,000.0 2,000.0 -
8. U Ghph L ng Gk Gpuwljwpnignid L
hhdGwin i 56,645.8 - 56,645.8
- Chlptiph b phGnipynGGtph Yuwhwnw) yepwlnpngnid 5113 56,645.8 - 56,645.8
14. Quhwlwl pulih wiowlgnip ] wlwlw
wpwjhl tpuwjwnngyuwdoplbph L [77) wnil 140,000.0 140,000.0 -
wnquguwl G, 1w hl opw wguwl dhgnquinnidih;
-Uj1 GuuwuwnGlp pjnigtihg 4729 140,000.0 140,000.0 -
ALULUATLUSRL ChLULULNREBNRG GUL
2600(06(0(0 924,520.2 924,520.2 -
UNUNKFLUL 6UNUSNRME-3NFL ' '
wyn pymd’
2630| 06 | 3 | 0 |Zpuwdwwnwlwpupnd 924,520.2 924,520.2 -
nphg
2631 06 | 3| 1 |2pwiwwnwlwpwpnud 924,520.2 924,520.2 -
wjn pymd’
1. dpwlupuh {wlpwwybnmpul JunujupnpnuG
woujgmp iy wljuGw Laug wilwwmwuwpuwpdw i
L opwhbmuguiwl dpugnhl npuwduw, wbulhljwlw i 892,646.9 892,646.9 )
wowlgmpul opu wwnyhpuywd jhwgnpmpim GG,
-Uj1 dwfuubip 4861 892,646.9 892,646.9 -
2. dpwlwpmgdwi L qupquigwb b wlwl pul
wowligmp iy wljpuGw Ll wilwwmwljwnuwnsu i 12,835.0 12,835.0 -
wpbjuwjtw b opuw wunjhpwipfwd jhuwgnpnipini 666,
-Uj1 dwfuubp 4861 12,835.0 12,835.0 -
3. Ybpwljwnmguwl L qupquiguwi & wlhwl pul
wowlgmpjuyj wiljw G Luug, wilwnwljupwpdw
wnbjunjiw G gpudur Gnphwighl opw. wm/imujud 19,0383 19,0383 )
[hwgnpmpn GGLp)
-Uj1 dwfuutip 4861 19,038.3 19,038.3 -
2700(07(0f0 UN-NA2UNULNM-3NML 100,000.0 - 100,000.0
wyn pynid”
2760 07| 6 | 0| Unnnguywhmpym i (wjy puubphl jujunnljwéng) 100,000.0 - 100,000.0
nphg’
2761| 07| 6 | 1 |Unnnowuwwhwlywl hwpwihg ownwjmpjmGGatp L opwugptp 100,000.0 - 100,000.0
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£jmetinwjhG dwluutiph gnpéwnwyul puuwlwpgiwb
pwdhGhtph, fjudptph L quubph, hGsybu Gubl pynetnmyhG
owfuutiph mGntuvwghnwywl nwuwjupqiwl hnpjuoGhkph
wijuGnuiGhnp

Znmqjwd NN

Chnunibtp

wyn pymd’ (wybpugnidGbpp Gpjuwo Ll
npulpul Grulny, huly GjuqbgnidGhpn
thwljwqobpnu)

Jupswhwl pynigh

$nlnw;hG pymot

wyn pynd’

1. Upnnowwywhwljw @ opjbyunGhph hhuGuGnpngmy

100,000.0

100,000.0

- Chiliptiph L 2hGnipymGGph yuwhww ypwlnpngnid

5113

100,000.0

100,000.0

2800

08

{ULAhUS, UCUUNM3E GI. 4LNL

(226,000.0)

15,000.0

(241,000.0)

wj pymd’

2810

08

Swlquuih L uynpnh ownuynipiniGGhp

(241,000.0)

(241,000.0)

nphg

2811

08

[y
=

{wliquup L uynpunp dSwnwynipniGGtp

(241,000.0)

(241,000.0)

wyn pynid”

2. {wliquun whGbph L qpnuwjghl wnnigmy ni

wwhwwGnid

(241,000.0)

(241,000.0)

- Clliptiph U 2hGnpymGGtph Junnignid

5112

(241,000.0)

(241,000.0)

2820

08

Upwlmpuwjhl ownuympjmGGan

15,000.0

15,000.0

nphg’

2821

08

Pwlqupuitp L gnigwupwhGtp

15,000.0

15,000.0

wyn pynid’

2. Puliqupublbph Gn 1

15,000.0

15,000.0

- Uy ppwghy npuiwp Gnphlbp

4639

15,000.0

15,000.0

2900

09

UPENrMe3NMG

50,000.0

50,000.0

wyn pynud’

2910

09

Vuwfuwgupngwlput L mwppwlpul pphwlnp yppmipn G

nphg

2911

09

=
=

‘Lwluwnupngwlwb Yppnipynil

wyn pynud

3. Lwfunw wlwl ppmpym G (wunyhpwipwd

JhwgnpmpmG66p)

-CGnhw(nip pGnyph wy) SwnwynipjntGGtp

4239

(8,677.9)

(8,677.9)

-Untpuhnhwbp ng-phGwGuulub yhmwlywb (hwdw)GpujhG)
JququiwytpynmpmiGGtphG

4511

8,677.9

8,677.9

2911

09

Swppuwyw pGnhwlmp YppnipjniG (uwumyhpuwjwo
JhwgnpmipniGGtip)

wyn pynud’

1. SwpwppwlpuG niunigniyf

-Clnhwlnip pnyph wjp ownwynipyniGGtp

4239

(6,100,488.9)

(6,100,488.9)

-UnipuhnhwGlp ng-phGwGuuu yhnwwb (hwidw)GpujhG)
JquqiwytpynmpmiGGephG

4511

6,100,488.9

6,100,488.9

2. {wunnt nipnL i

-CGnhwnip pGnyph wjp ownwynipymGGtp

4239

(171,679.3)

(171,679.3)

-UnipupnhwGbp ng-phlwGuuub yhnmwywb (hwdw)Gpujh)
JuqiwybpunipmGatphG

4511

171,679.3

171,679.3

3. UbpwnwljuG Yppmpni G

-CGnhwnip pGnyph wy) SwnwynipjntGGtp

4239

(566,392.3)

(566,392.3)

-UntpuhnhwGbp ng-phGwGuuyub yhmwlwb (hwiw)GpujhG)
JquqiwytpynmpmiGGtphG

4511

566,392.3

566,392.3

2920

09

UhgGwluwng plighwénip Yppnipjnil

nphg’

2921

09

N
=

{hiGwlywa pnhwlmp Yyppmpynil (wuwnyghpuwlguo
1hwgnpnipniGGtip)

wyn pynid’

1. QwpwyppwlpuG niunignig

-CGnhwnp pGnyph wjp SwnwynipniGGtp

4239

(7,893,998.8)

(7,893,998.8)

-UnipuhnhwGbp ng-phlwluuub yenmwub (hwiw)ipujh)
JugiwybtpwnipimGatpnhG

4511

7,893,998.8

7,893,998.8

2. {wwnnt mip oG

-Clnhwlnp pnyph w)p SwnwynipymGGtp

4239

(204,487.2)

(204,487.2)




(hwqup gpuudGbpny)

= wyn pymd’ (wybpugnidGbpp Gpjuwo Ll
% sl e £jmetinwjhG dwluutiph gnpéwnwyul puuwlwpgiwb = il Grwlny, hul GuqkgmdGipp
2 § pwdhGGtph, fudptiph L guutph, hGswbu Gubl pymetwmwyhG o QGnwdttp ulugotpni)
E 3 E ¢ owpuutiph mGmbtuwghnww nuwuwjupqiwl hnnjuoGtph E-
wiywmiGtnp g YwnswlwG pynigh | PninuhG pynigh
-Untpuhnhwbp ng-phGwGuuyub yhmwlwub (hwdw)GpujhG) 4511 204.487.2 204.487.2 )
JququiwytpynmpmiGGtphG
3. Vbpwnwlwi yppmipim G - - B
-CGnhwnip pGnyph wyp SwnwynipjniGGtp 4239 (628,569.9) (628,569.9) -
-UnipupnhwGbp ng-phGwGuuyub yhmwywb (hwiw)GpwjhG) 4511 628,569.9 628,569.9 )
JugqiwybpunipymGGtpha
4. Gpbynjwd Yppoipjm G - - -
-CGnhwnip pGnyyph wyp SwnwynipyniGGtp 4239 (6,280.9) (6,280.9) -
-UnipuhnhwGbp ng-phlwbuuyub yenmwub (hwiw)Gpujh) 4511 6.280.9 6.280.9 )
JuqgiwltpynipniGGtphG
2922| 09| 2 | 2 |Uhebwlwng(nhy) pinhwlnip Yppnepjnil (wwnghpuyuwd . . .
JhwgnpmipniGGtp)
wyn pynud’
1. QwlpwlppwlpuG niunignid - - -
-CGnhwGnip pGnyyph wy) SwnwjnipntGitp 4239 (199,466.3) (199,466.3) -
-UnipuhnhwGlp ng-phGuGuwub yhnwub (hwdw)ipujht) 4511 109,466.3 199,466.3 )
JquqiwytpynmpmiGGtphG
2. unnnt nipnt i - - -
-CGnhwGnip pGnyph wyp SwnwynipjniGGtp 4239 (35,054.9) (35,054.9) -
-UnipupnhwGbp ng-phGwuuyub yhmwywb (hwdw)ipwjhG) 4511 35.054.9 35,054.9 )
JuquwybpunipymGGtpha
3. UbpwpwljwG yppmpim G - - -
-CGnhwlnip plnyyph wy) SwnwjnipjniGibn 4239 (617.7) (617.7) -
-UnipuhnhwGbp ng-phlwbuuyub yhmwut (hwiw)Gpwjh) )
T e 4511 617.7 617.7
4. Gphnjud Ynpnipm G - - -
-CGnhwnip pGnyyph wj) SwnwynipniGGtp 4239 (21,165.6) (21,165.6) -
-UnipuhnhwGlp ng-phGwGuwu yhnwub (hwidw)ipujht) 4511 21.165.6 21.165.6 )
JuqiwytpynmpmiGGephG
2950| 09| 5 | 0 [Puwn dmljwpnuyGeph snuuwlpupgynn §ppnipyni i 50,000.0 50,000.0 -
nphg’
2951| 09| 5| 1 |Upnunupngulwl nuumhwpwynipynd 50,000.0 50,000.0 -
wyn pymd’
1. Upnmwnupngulwl nuumhwpwlmpim G 50,000.0 50,000.0 -
-UnipupnhwGlp ng $hGwluwyub ytnwwuwb (hwiw)ipwjht) 4511 50,000.0 50,000.0
JuqgiwytpynmpmiGGephG
3. «wlinp GngnpulG» whwwihp MNUY-md
wmnu wlwl nuunmpwpulnipyul uquwlbpynid - - -
wnyhpwlyjwd jhwgnpmpm 665,
-CGnhwnip pGnyph wyp SwnwynipjniGGtp 4239 (7,980.2) (7,980.2) -
-UnipupnhwGbp ng Phwbuwyul yhmwub (hwdw)ipwjhG) 4511 7.980.2 7.980.2 )
JuqiwybtpwnipymGGtphG
2960l 091610 Uppmpjulip mpudwnminng odulinuy ownwympimbGhp ) ) )
nphg*
2961| 09| 6 | 1 |4ppnipjwlpn mpuwiwnpynn odwlnuly ownwjmpniGitp - - -
wyn pynid”
5. Umbumuynpiwl vhongny npulpuynpmy unwgwd
nwunighsGaphG hurybrudwpGaph mpud; iy - - -
unnyhpwljwd jhwgnpmpm GGk,
- CGpwghy npudw)GnphGbp whwmwlwl L hwdwGpltph ny )
winlanpuht uqiulbpunpin GGEphG 4637 14,603.2 14,603.2
- Uy pGpwghy npudw)GnphGhp 4639 (14,603.2) (14,603.2)
{hULUUUL RAUFRULULELRL U UU N,
310011(0|0 244,888.0 104,888.0 -
NULNRUSUSHhL HNOLAGL
wyn pynud’
3110l 11( 10 <4< yununJupmpywG L hwduyGpGhph uyuwhniunughG $nln 244.888.0 104,888.0 i
nphg’
3112] 11| 1] 2|4< hwdwyGpGbph wwhmuwmwjhG $nln 244.,888.0 104,888.0 -
wyn pynid’
-MuwhnunwjhG ShongGtp 4891 244,888.0 244,888.0 -
~wunugmyi wywhniunwjhG $nlnhg $nlnuyht pjniek X - (140,000.0) -




